CIELABNS triangle lightness T*

T* YocmL*w - nc=100,

T*CiELABng =100 (YY) Y2 %1 (¥,=100,Y,/100<Y<=Y,0)
T*N(8,6)=20,T*,(18)=43,T*\y(90)=95

T*go_94 90,y=2,0, 11/—1/2 0=0,50
=42,87, 21 D,=0,78
Tr3%=10,561%,=42,87 %=18

log[T*/T*,]=0, m;=0,49

. application
* =49, T* =4 range

'v,=18
1 Yw=90

CIELABN8

tristimulus value difference

Yoc=L* w nc=100,
T*CiELABng =100 (YY) Y2041 (¥,=100,Y,/100<Y<=Y,0)
log(dY) = (1/2,0) log[2,0¢,/99)] + [1-(1/2,0)] logY)

+ =43, dY,=4,75 dY,/Y,=0,2639

.

dYgg—lO 62 =~ w—1/2 0=0,
dy, 21D,=0,78

application
dY3 b_z 11 Y,=100 dy=4,75

range
\Y,=18

Yn=3.6

log AY/Y)
S=(AY/Y)

CIELABN8

tristimulus value sensitivity
Yoe=L*w nc=100,

T*CiELaBng =100 (YY) Y2041 (¥,=100,Y,/100<Y<=Y,0)
log(dY/Y)= log[2,0(Y,/99)] - (1/2,0) log{/Y,,)

= (1/2,0) log[2,0¢,/99)] - (1/2,0) log)

REY application
T*,=43, dY,=4,75 dY, /Y, 0 26.5., 1 Y.range

1
(dY/Y)=0,1180y=2,0, 14=1/2,0=0,50
(dY/Y)g=0,2639 §,799,21 D,=0§78
(dY/Y} ¢=0,5888 Y,=100 dY=4,/5

'y,=18

1 V=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABN8
tristimulus value contrast
Y=L w nc=100,
T* CiELABng =100 (YY) Y2041 (¥,=100, Y, /100<Y<=Y,0)
log(Y/dY)= — log[2,0/,/99)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢,,/99)] + (1/2,0) logy)

T* =43, dY,=4,75 Y,/dY,=3
1og(Y/dY)=0,57, m,=0,5

-

ot 1
(Y/dY}5=8,47,y=2,0, 1¥=1/2,0=0,50
(Y/dY)g=3,78 $=99,21 D,=0,78 application
(Y/dY} 1,69 Y,=100 dY=4,75 range
1Y,~18

Yw=90

Yn=3.6

TEIT
T,

CIELABNS relative triangle lightness T*/T*,
YocmL*w - nc=100,

T* CiELABNg =100 (YY) Y2%1  (¥,=100,Y,/100<Y<=Y, )
T*n(3,6)=20,T* ,(18)=43,T*y(90)=95

application
f range
1y,=18
Yy =90

Yn=3.6

log (A YIAY,)
AYIAY,

CIELABNS8 relative
tristimulus value difference
Yoe=L*w ~ ne=100,

T* CiELABNe =100 (Y/Yp) Y2%1  (¥,=100,Y,/100<Y<=Y, )
log(dY/dY,) = [1-(1/2,0)] loglf/Y,)

dYeg/dY,=2,23,y=2,0, 11/—1/2 0=0,50
dY,¢/dY,=1,00 §,=99,21 D,=0,78
dYs gdY,=0,44 ;=100 dY=4,75
* =43, dY,=4,75 dY,/Y,=0,2639
-
log[(dY)(dY),]=0, m;=0,49 .

-
1

1y,=18
Y=90

application
range

Y236
log [(AY/Y) I (AYIY)] CIELABNS relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
T* CiELABNe =100 (Y/Yp) Y2%1  (¥,=100,Y,/100<Y<=Y, )
log[(dY/YV)/(dY/Y),] =~ (1/2,0) log¥/Y,,)

(dY/Ypo/(dY/Y)=0,44,y=2,0, 1=1/2,0=0,50
(dY/Y)g(dY/Y}=1,00 §=99,21 D,=0,78
(AY/YRd(@Viv 23 Yy 1oq dY=4,75

log[(dY/YY(dY/Y),]=0, m,=-0,50 1 Y

T+, =43, dY,=4,75 dY,/Y,=0,2639 }

1y =18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] CIELABNS relative

tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,
T* CiELABNe =100 (Y/Yp) Y201 (¥,=100,Y,/100<Y<=Y, )
log[(Y/dY)/(Y/dY) ] = (1/2,0) loglY/Y,)

(Y/dYyo/(Y/dY)=2,23,y=2,0, 14=1/2,0=0,50
(Y/dY)g/(Y/dY)=1,00 §=99,21 D,=0,78
(YIdY},d/(Y/dY)=0,44 Y,=100 d¥=4,75

2 Y

log[(Y/dY)(Y/dY),]=0, m,=0,50
T*,=43, dY,=4,75 Yy/dv.3 o

- application

range
Y,=18
Yw=90

-

1
P 1
1
1

YN=3.6




